
1/1صفحة  

 

ورُ هُ مُ الج ُ
ُةُالج ُيُ  رُ ائُ ز 

ُيُ   
ُيمُ ةُالد 

 
ُرُ ق اط 

ُيُ 
 
بُ عُ ةُالش

ُةُيُ 
ُوُ 
 
ُارُ ز

 
ُُة

 
بُ رُ الت

ُة ُيُ 
ُالوُ 

 
نُ ط

ُةُيُ 
ُمُ  يرُ د 

ُيُ 
 
طُُــــة س  رُو  ائ 

ز  ةُــــُالج  ي  ب 
ر 
 
ُُالت

ُمُ  ُرُ د  ُس 
 
ُُاء ُج ُالرُ ꞌꞌة

ُوُ 
 
ُالت
 
ُوُ ف ةُـــꞌꞌُق  اص 

 
ُ وُبُ الخ

ر 
 
 ـــُُةيعُ ز

 

 

 
 

 
 

 

A/ COMPREHENSION: (8pts) 

1)    A/ The text is:               b. expository                     

        B/ The text is about:     b. The invention and improvement of the telescope               

2) 

             A/ The instrument invented in Holland was used to see far objects nearer 

             B/ Galileo was the first to improve the telescope 

             C/ Galileo was able to make a more precise and stronger telescope        

 

3)  Answers: 

a. The first optical instrument was made by a Dutchman in Holland. 

b. Distant objects appeared closer when seen through the Dutch telescope. 

c. Galileo constructed three telescopes.  

d. Yes, he was. “He was the first to see bright mountains and vast dark plains”. 
 

4)  We have a description of the new telescope:  In paragraph 2 

5) 

a. they (§2): distant objects      b. which (§2): tube of lead         c. it (§3): telescope         d. he (§3): 

Galileo 
 

B/ TEXT EXPLORATION: (7pts) 
1)   

      a. plentifully (§1) =satisfactorily     b. visual (§2) =optical      c. device (§2) =instrument     d. spacious 

(§3) =vast 

2) 

a. She is a quick typist. She types quickly. 

b. He drives his car with care. He drives his car carefully. 
 

3) Join the pair of sentences with the provided connector: 

a. I called my friends whom I invited for tea.  

b. He ordered a meal which doesn't cost too much.  

c. Although George Washington Carver was a slave, He managed to become a famous scientist.  

d. Satellites are so useful that many electronic devices depend on them.  
 

4) Reorder the sentences below so as to make a coherent paragraph: 

a. He was the first to transmit the image of the human face from one room to another in 1926. 4 

b. because his pioneering work stimulated the efforts of many others. 3 

c. Modern TV is a combined achievement of scientists of several nations. 1 

d. But John Logic Baird deserves a leading place among them 2 

e. Baird died in 1946 with many of his hopes unfulfilled. 5 
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